Billion Hundred Million | Ten Million Million Hundred Thousand | Ten Thousand | Thousand | Hundred | Ten | Units | Tenthsq Hundredths | Thousandths
(1,000,000,000) | (100,000,000) (10,000,000) | (1,000,000) (100,000) (10,000) (1,000) (100) (10) | (1) ¢ (0.1) (0.01) (0.001
A
o | Place Value Addition and Subtraction
el stcomma | Thousands | 1,206,000 duct Times g% 3 Multipiication and Division
8- Second comn Millions ,) 206,600 Sum Add 8 +3 Piying Column 9 8
1 mutliplication X 5 4
il Ition hohokid o sibousend | [ Difference | subtract g =3 39 2
61 4 9 0 0 emuwmmn
5 Ascending Smallest to Write in descending order nteger Whole number | Circle the integers below: 5 2 9 2 e mmm
biggest 4.403. 4.3, 4.33. 4.03
4 U TH™ =52, 1/4-.’@, '”ﬁ@ Dividing Bus stop Work out 3 -Z"io 396
4 . (+] number .
3 Descending Biggest to b 3‘_”::“ I = %] 2.7000
smallest 4.3 30 hal s o : First numt Goes in the = 0.375
4.3 00 )dd e in 1,3,5,7,.9 Write the largest even number bus stop .
27 4.0 3 g lme up Hhe using:
1 e dados Never moves deawal 2.3and7 Dividing by Equivalent Calculate 0.0642 + 0.03
ot S— peint T ecima fractions,
0— 2,4,6,8,0r0 3 3247 must-end Turn the P .
Crocodile Eats the i o _— denominator (&2 S33% = —5-= T,
ol bigger W S into an WD
i~ number R
-3 -T - -
Order of Operations Rounding and estimation
A Brackets 10=-(5-2) + 471
bpy @ Rounding Find the Round 58,624 to the
5 M Division, 0 — 5 <« -l 81 decider nea-ll"e_s.t 100
Multiplication ®
-6 Addition, Subtraction \0 —3 +
o One step at a ti Copy the rest down  |***¢ oVl o mperianu, read fmes eft wihf | = 07 200V Give it a shove 58,6 %:i-dtdchr
8 =k A= _
be Let it go
-9
10
Y




Basic l'llle of Algebl'ﬂ Solving Linear Equations
Successful With an inverse Solve
1
\‘T\/ 1\ Doitto 1 side Do it to the other to
The term includes The sign before Pt

< ockr JK: I .i
nlq UQ keep the balance i

Collecting like terms

[*Y (1]
ol

T+2x £ 5

- - . -3 -3

Expressions and Substitution 2tz

g

Substitutior Replace with a=5andb =-3. Calculate 6a - 3b x 4]
brackets 6(5)-3(-2)
= 30 46 X on both sides Get rid of the smallest ve
=3 L3 I 2% +1
r +3%
x on both sides and Expand the brackets Solve
bracket first -
Units of measurement o X+ 3 Slax-1)
Ix+lz2 2102¢~-§
Converting units Box method =
B Convert| 1cm = 10mm
Bigger unit equals mm 1m =100cm
g m 1km = 1000m
i
1 =1000ml
gl00 1min =60 seconds
1 hour = 60 mins
2100 Answer: 3cm
werting units of area Draw a rectangle e
Convert the lengths Corvrere 1% I

éﬁ'? a'#

Conyert
the [agths fo cm

2z
0.3X0. 4= —Cm







